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bx3=

How many ears do E-ight dogs have in all?

fn+2=7 thenns=

There were eight bugs on the ground. Now there are six,

How many flew away?

2x3x2=

4x6+___ =31

3,69 12,

Seven bicycles have wheels in all.

Use <, >, or = to complete questions 9 and 10.

9.
70.

3 weeks 20 days

1 cm 1in.
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Four dollars equal pennies,
2+45e2=

5+8-3=

e 5
2

I]tq':H': ]2,_;_ _—

0x5132 =

252
The product of four and threeis

The sum of five and four is
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The product of 4 and 6 is

2463 x0 =

1,10, 2,9, 3,

—_—

3+4+3=

How much does each apple cost?

5+(3-1)=

The difference between9and 5is
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Does Ellen spend more time
on homework or sports?

a 4e3+5e]1=

For questions 7-10, use a =2, b =3, and c = 6.

2 arb-
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9 L
10. -
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For questions 1-5, usea=8,b=2,and c = o

Z
2
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70.

a+b=

b+c=

ab =

=

Thesumof 8and 7is __

ﬂlﬂdiﬂﬁmbetween‘)andEis___

10-323=

2
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202e32=

Which number is in both A and B?

10-5+2=

6 =

1elele]l-=

Circle the answer that is equalto5 * 5 * 5:
a.5x3 b.3x5 ¢.5 d. 3

3+5=
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A trio and a quartet got together and played a song. How many

musicians were there?
2+334+2=

2)36

10% =

. 10 =

> =

3 L] 2 L] 1 —

Circle the answer that is equal to 4%
adeded b.4«3 c.443

b |

1‘1,313|3-3
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& Circle the answer that is equal to 5%
a.5x3 b.3#3e3e¢3e¢3 (. 3x5

4; If8 +y =15 theny =
5: 1543 2=

& Scott ate half of the pizza.
How many pieces did he eat?

2 = 8

For questions 9 and 10, usea=5and b = 2.

lg. ab =
10, -

d.5e5e5

15
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If 4r = 24, then r =

15
.

5(4 + 2)=
G+4e2=

Ifs-8=9, thens=

45 & 23 -

x 45

If there are fifty dimes in a roll of coins,
then it is equal to __ _dollars.

The product of eight and nine is

/e

LAEAP Lrjarar

O & e
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2 2.
3. (4+4)?=
&, The quotient of 3)27 is .
S.  One half of fifty is

S

128, 64, 32, 16,

7. 256+0-=

For questions §-10, usea=5,b=4,and c = 2.

7
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Ifa+15=19, thena=

Ifb=2, then b’ =

84+ 3)=

10+4x2=

Five cars have how many wheels altogether?
If 3n = 18, thenn =

50 x 50 =

Eight squared is

Ify—4=11,theny=

What time is shown on the clock?
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ﬁ The sum of four and twelve is

Six ducks have how many feet in all?

w N

(8-3P=
4,. 1:{15:
2

o

Three squared is

)

Bel+de2=

N

8§-3e2=

S

Five dollars equal how many pennies?

©

If a = 5, then a* =

S

Four weeksis _____ days.

g
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(4+2+1)=

If 6 pennies are in each pile, how many pennies are in nine piles?

Ww N

T

| 9- __=3
i |
! i 4 Tl =
Eil
: | S, 12-3.4-
' 6. s00)-=

N

If65 +a="71,thena=

S

Twenty-four divided by eight is

Q

Ifa=9, then 5a =

S

Twelve quartersequal _ dollars.

el Punipa] aaneary (007 & Ny gy A



w & Y
Mwure 14

i- lllllllllllllllllllllllllllllllllllllllllllllll

“

Fi

Aame

o

15-3+2=

W N

P
4, A centipede has legs.
S, G-
6. _g=g
/7, Forty nickels equal dollars.

Use <, >, or = to complete questions 5-10.

& 32 24

9. 1 meter 100 millimeters

10, s 8(5 + 4)
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4x4=
Five boxes of pencils with ten pencils per box equal ___ penck

If18 =3 =n,thenn=

70 x 70 =

The product of 6 and 3 is ;

y s =9

1,4,9, 16,

o ;
3 :
Five tricycleshave ___ wheels,

L= T

Five squared plus ten is equal to

22
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Sx4=

65
s S 1012) =
Three centuries equal years.

Five squared isequalto

7+(4+2)=

3)45

For questions 8-10, usea=4,b =9, and ¢ = 3.

8.
9
10.

ac =

23
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2 10-54+3=
K

D6+03=

N

Six weeks is equal to days.

Oy

18-6+2=

)

What time is shown on the clock?

.7, 12+2+2=

Use <, >, or = to complete questions 8-10.

& 055 0.65

9 oo0s3_____ 08

10 o6 060

24




f, J4+1+2)=

2. Order these numbers from least to greatest:

5.2, 0.052, 0.52 ﬁ
3 -
g 20_

4

)

Circle the greater number: 0.0853 or 0.09

o

Circle the answer that is equivalent to 4*
a. 12 b.4*4+4 C.3*3+3e3 d. 43

/7, Theproductof8and1lis

Use <, >, or = to complete questions 8-10.

& s1m 401

‘2 0.0034 0.03

, a. 10.6 10.600

25
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08-05=

Circle the greatest number: 055 0.50 0.505

Circle the number with the least value: 0.092 0.029 0.043

If a =9, then a* =

If 3x = 27, then x =

Three feetequal ________ inches.

349¢2=

Order these numbers from least to greatest:
0.08, 8.0, 0.8

A field goal is worth three points. The Bears have kicked four field
goals. How many points is this altogether?

3x2x4=




f; lta+8=16, thena =

2. Circle the greatest number: 820 8.02 8.022

3, 03+02+01=

For questions 4-7, round to the underlined place value.

& %2
S,
6 oo0is

7 1545

For questions 8-10, usea=2,b =3, and ¢ = 8.

& -

qﬂ The sum of a and b is

70,
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,. 08+06=

= h, then x =

L |

2
3.

Circle the number with the least value: 0.051 3.82 0.05

Ay

Ten weeks equal days.
5 10-6+2=
6. 3+2=
2— Eight dogs have ____ legs in all.

For questions 8-10, round to the underlined place value.

& omr_____
9 os6_
10 28

248
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55

Sixteen quarters equal
6(8) =

28
4
Ifg-4=18,theng=

Ifa=3, then2'=

2 B-3+4=

dollars.

For questions 8-10, estimate the answer by rounding to the ones place and then
applying the correct operation. Number 8 is done for you.

g
9.
/0.

122 +49=12+5=17

189 -3.6 =

69x82=
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42 =

The product of 6 and 3 is =

Circle the answer that is equalto 3 ® 3 ¢ 3 * 3:

a4

5(3+5) =

b. 34 c. 3?

Use <, >, or = to complete questions 5-7.

S.
6.
z.

4.1

208

5.03

6

2.080

2.4

d. 12

For questions 8-10, round to the underlined place value.

é.
9.
/0.

8842

481.56

0.0083
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Ten cats have legs in all.

(8=3x2)*=

084 x10=

823 x 10% =

25x01=

Ifa=5and b = 4, thenab =

Ifa=2andb =3, then aba =

Use <, >, or = to complete questions §-10.

.4
9
70,

4.03 4.01
5.62 8
6 -5
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Name —=—
I 2650)-
2  004x10°=
3. Circle the greatest number: 4.8 4.08 4.008

4, Circle the number with the least value: 22 002 02

5: 468x0.1=

Use <, >, or = to complete questions 6 and 7.

6: : S
Z 32 2 0@

For questions 8-10, round to the underlined place value.

& 4081
9 2065
10, 43 _

\

32
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